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TRIGONOME 1RIC FUNCTIONS

sin(A = B) = sin A cos B = cos A sin B

cos(A = B) = cos A cos B ¥ sin A sin B

. . . A+ B (A —B)
sinA + sin B = 2 sin cos

2 2
. ) A+B) . (A-B
sinA — sin B = 2 cos sin
2 2
+ — B
cos A + cos B = 2 cos “ B) cos “ )
2 2
A+ B B — A
cosA~cosB=2sin( > )sin( 5 )

1
sin A sin B = E(cos(A — B) — cos(A + B))

1
sin A cos B -i(sin(A - B) + sin(A + B))

1
cos Acos B = E(cos(A — B) + cos{A + B))
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CoOs A =

HYPERBOLIC FUNCTIONS
coshA =

dcoshu =
sinh(A = B) =

coshiA = B\ =

sithA + sinh B =
sinhA — sinh B =
coshA + cosh B =
coshA — cosh B =
sinh A sinh B =
sinh A cosh B =

cosh A coshA =

| . i | S .
E(e"‘ + e ™), sinA = Z_(e“ — e
cos’A + sin’A = 1

L Jyah
%(e‘ + e74),sinh A = %(e‘ —-e

sinh u du, d sinh u = cosh u du
sinh A cosh B + cosh A sinh B
cosh A cosh B + sinh A sinh B

+ —
2 sinh “ 2 B cosh @ 3 B

+ B A — B

2 cosh @ > )sinh( > )

(A + B (A-B)
cosh 2

A+ B - B |
25inh.( 5 )sinh “ 2 ) |

2 cosh

’%(cosh(A + B) — cosh(A — B))
%(cosh(A + B) + sinh (A — B))

~;-(sinh(A + B) + cosh(A — B))

cosh’A — sinh’4 = 1 j

CALCULUS Ay Jolid b 1
1. Derivative of a product el dazs. “
(W) =u'v + w'
@' = w'v + 2u'v' + w”
)™ = 4y, 4 Mu" D + .+ (:Tl)“v(n—l) + ™

LW
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Rules of integration -J“Kﬂ\ Oﬁ’\};

b b b
. L (e fitx) + ¢ /l))dx = ¢, .L fitdx + ¢, L Srlx)dx

b. L ’ fldx =0

c ff(x)dx = - L ’ fodx

d. L bf(x)dx = L ‘ f)dx + fc ’ f(x)dx

Derivatives of integrals i UG HIN

d-[? baf
a. E[J; f(x, tdx = L E(X’ t)dx

d 1
b. ;tjaf(x)dx = f@t)
wi) IV(I) af

€~ |, 6 D = SO0V 0 = fu®, ou'@ + | o x, Ddx
Integration by parts b J,,;J\, &‘&ﬂ\

a. juv'dx = uy — jvu'dx
b. [uv”dx =vu— v + J’vu"dx
Functions defined by integrals O)L’Kﬂ\‘f 4 all J\J'U‘
a. Natural logarithm el S\ i
In(x) = I Q
1z
b. Sine-integral function T - J‘& s
SiG) = j sinz
0z
¢. Normal probability distribution function l:ﬂ-;g-m\ PRIRES I IBTY s
1 X

(I)(x) = \/.___i_:; B e——z2/2dz




[y
d. Error function Uﬁ-’\“ abh

erf(x) = —\-/2—-1_1_ e Zdz
erf(x) = 2D(V2x) - 1
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m=1
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1 — cos mm
a, = T —————
mm
4T (cos nt — 1){1 — cos mm)
Gmn = 3 n’m
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w(a2, b2, t) = . by, sin ~ sin == exp(— (N2 + mnu)kt) .3
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. u(x, t) is 1 minus the solution of Example 3.
2
X
r+ = 1
2
4 < cos(2n — D ~ x)si — .
W 0 = 2 cos (2n )3 x) sin (2n Dt 3
T s . (20 — L
Qn — 1) sin 1
) <l X I > .
. vy | = sIn W — — sin wr } sin wx .5
w — 17 ks ] w
s (sin 7t — 7t cos =) sin Ty
) = x - si'n Vﬁ:—t@"” . 2a 2 sin u.‘.'r.r c;xpf—/zznzt) 7
sin \Va T T nla — n"w7) cos nw
X COS Ny 4
.- The term  ————— oxp( - nowly  arises.



& gsie ol

T T
Uls) = =2 + —
v+ s s(y" +9)
) | 1.
u(x, 1) = Tyexp(=y'1) + T(I = exp(=¥’1)
U cosh Vsx
(s) = s* cosh Vs 3
| — x° ~ 2 COS pX ) .
= — _— _— — "[
u(x, 1) = 1 > 2‘1 S sin . exp(—p,’1)
Pn = (2” - 1)17/2 CA‘:>
. 4 cos p{x — <
ooy = =0 S . exp(—p,’1) 5
DT T T A ey
" o— Dm b
> 2 sin nm "
wx, 1) = x + 2, i exp(— n’w’t) .7
T AT Cos AT
1
Ulx, s) = —(1 — exp(— Vsx)) .9
s
.1

exp( —.x2/4t)

. X
1O =

= 2n + 1 — x 2n + 1 + x ’
= > R N iy g T 172 .13
u(x, 1) 2 [erfc( T ) erfc( TE >:|

. - | 15
F(s) = 2 )
(s) ,,241 52 + n2
5 inr ,
1 = —G STt
f0 _ZL 2a < a )( "y

O S ¥ Gls) Can F(5) = GOHG) &ally 0555 O cow Fs) - 19
e e dewiin Bl 055 o) o Hi) = 0 Jso e 2 0050
L Hs) = 08 B H () # 00y AL

2 s

g A M Rl N .2
s(I —e °7) s(1 + ¢ ™)
CF(s) = — —‘\—T; .23
[ . 1)(1 — € )
AN




sin wx sin wt = (=" e
ux, 1) = ————— + O 5 sin nmx Sin nmt 25
sin @ e 1

sl Juadd)

w 1 J».\-?

: Jadd

16(u,v+,-2u;+u,~~,)= —1,i= 1,2,3,“0:‘0,“4:1. 1
Uy = 11/32, U, = 5/8, u; = 27/32.

16(“[.,.] - 2“,' + il,'*)) - U = —%l, [ = 1, 2, 3, Uy = 0, Uy = I

s Jadl:wy = 0.285, u; = 0.556, u; = 0.800. -3

Uy = 0422, uy = 0277, U, = 0148, uy = 0051 . L}"‘j‘ .5

‘ .7

G oobe Lo WL u) = —sin VIOusin VIO g sl Sl
w3l S Lagasdl il Al . 50
21/[4 d 36—@3 \-4)\.9 P é;,A:J\ JQJJ:'.S\ & ca.):; I=35 LBM 33:\,.03\, &
L)n’;}\ . Ug = —14
uy = 1.382, up = 1.146, u3 = 1.057, uy = 1.023, us = 1.014. "
@ P ol bl L Yl gy \gddeo (S Uy G

. |
Uy = 0795, u, = 0839, u, = 0919 o

laﬁa‘:‘Z-\.Lg

7 -4 J}JQJ\Q,.m+1L.$J\u.@3Q,ii O o Jodl e m asd) 1
r=2/5 At = 1/40 .3

o JJJ.;:J‘ L} slag ¥ & ug(m) = ug(m) = mAthfJJ - Af = 1/32 -5
A &y yae S )

o\v



5.

Ato LJJ‘N u}(}' u\ ot ) JJ.L’J\ L} slag Y Qe LA = 1/32

I o 1 2 3 4
m
0 ] 0 0 0 0
1 )} 0. 0. 0. 0.
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0 0 0 0 0 0
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by

(7,17, 100 (W7, 1T), Sa o 3 A iy oSl s

a =19115¢ Lo (27, 27), 32a (117, 27, 21 . (3/7, 1/7), 14u

(114, 14), 1658 (112, 1/4), 2188; * 2% S laal mdlly Sl 7
(3/4, 1/4), 176B; (1/4, 112), 174B; (112, 1/2).2638 B = 1/268.

i 1 2 3 4 5 6
m
0 "0 0 0 0 0 0
1 0 0 0 1/4 174 1/4
2 116 116 /16 5/16 3/8 516
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3 1/32 764 3/8 1/4 17/64 23/32

3y M T U T U u Q\bY.SaﬁéUéﬂ\u&(&b\~7
C?GSM\UJ\-&A“ Uy = Uy = Ug = Ug

uim + 1) = %uz(m) —um— 1)

1 1
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